VARIABLES: ALGEBRAIC EXPRESSIONS IV (E-2) Name:

EXPRESSIONS WITH 8 TERMS
Time:

Score:

121)

Ty — 0z = (Ty) ~y x 0z 4+ 4y x 102 x 0 =

122)

63z ~7—42+4 0y x 8y + (10y) — Oy +~ 4 =

123)

63x -7 —0x X 20 X 2 X 92 — 0y — 3z =

124)

22 — 0y x 0z + (T2 4+ 62 — 322 +8 — 02) =

125)

2x 3442 -0y x9x 7+ (24y) — 0z =

126)

r4+4y x 0x 252 +5—0y+ (72) x 10x =

127)

62z +3+ Ty —0z+ (6y) ~(42) + 32 x 1 =

128)

4z + 0y x 10y — 2z — 0z + 82 x 0+ (dy) =

Mathematics: Variables - Level 5 - Expressions - Set 2 17


https://www.workulum.com

